
I Central Angle and Inscribed Angle Property 

In a circle, the measure of a central angle subtended 
by an arc is twice the measure of an inscribed angle 
subtended by the same arc. 
LPOQ = 2 LPRQ, or 
LPRQ = — LPOQ 

2 

The above property is true for any inscribed angle. 

II Inscribed Angles Property 

In a circle, all inscribed angles subtended 
by the same arc are congruent. 
LPTQ = LPSQ = LPRQ 

>- The two arcs formed by the endpoints of a 
T  diameter are semicircles. 

The central angle of each arc is a straight angle, 
which is 1800. 
The inscribed angle subtended by a semicircle 
is one-half of 180°, or 90°. 

I Angles in a Semicircle Property 

All inscribed angles subtended by 
a semicircle are right angles. 
Since LAOB = 180°, 
then LAFB = LAGB = LAHB = 90° 

We say: The angle inscribed in a semicircle is a right angle. 
We also know that if an inscribed angle is 90°, then it is subtended by a semicircle. 
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11 A tangent to a circle is perpendicular to the 
radius at the point of tangency. 
That is, LAPO = LEP° = 900  

The perpendicular from the centre of a circle to a 
chord bisects the chord. 
When LOBC = LOBA = 90°, then AB = BC 

A line segment that joins the centre of a circle to the 
midpoint of a chord is perpendicular to the chord. 
When 0 is the centre of a circle and AB = BC, 
then LOBC = LOBA = 90° 

The perpendicular bisector of a chord in a circle 
passes through the centre of the circle. 
When LOBC = LOBA = 90°, and AB = BC, 
then the centre 0 of the circle lies on DB. 

The measure of a central angle subtended by an 
arc is twice the measure of an inscribed angle 
subtended by the same arc. 
LAOC 2LABC, or 
LABC = —2 LAOC 

All inscribed angles subtended by 
same arc are congruent. 
LACB = LADB = LAEB 
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